HS 67 – HW for Chapter 6 – Assigned 10/11; Due 10/18 

Comments: 

· Questions assigned were 6.3, 6.5, 6.8, 6.10, 6.16, 6.18, 6.21, and 6.22. 

· In class on 10/13, we went over all problems except 6.16, 6.21, and 6.22. 

· HW serves several functions (discuss in class on 10/25).  

· You can do this if devote sufficient time to doing a legitimate job. 

· Some of you are having difficulties distinguishing the proper percentage to report. The choice is based on the question. Ask “What percentage is being asked” and proceed from there. (Choices are marginal percentages or a conditional (column or row) percentages.)

· Please ask me if you have questions.

	Problem
	Solution
	Points

	6.16
	Neither parent

One 

parent

Both parents

Student -

1168

1823

1380

4371

Student +

188

416

400

1004

1356

2239

1780

5375

(a) 5375 students. 

(b) 1004/5375 × 100% = 18.7%.
(c) For “neither parent smokes column, % student smokers = 188 / 1356  × 100% = 13.9%
For one parent smokes column, % student smokers = 416 / 2239 × 100% = 18.6%
For two parent smokes column, % student smokers = 400 / 1780 × 100% = 22.5%
A student’s likelihood of smoking increases when one parent smokes and increases even more when both smoke.
	6 pts.

	6.22
	(a) Here is the data showing better survival at hospital A:

For good condition of patient:

% survival hospital A = 594 / 600 × 100% = 99.0%

% survival hospital B = 592 / 600 × 100% = 98.7%

For poor condition of patient:

% survival hospital A = 1443 / 1500 × 100% = 96.2%

% survival hospital B = 192 / 200 × 100% = 96.0%

(b) Here is the overall data that is confounded by the “condition of patient” lurking variable:

% survival hospital A = 2037 / 2100 × 100% = 97.0%

% survival hospital B = 784 / 800 × 100% = 98.0%

(c) Explanation in language a reporter can understand: More than 70% of  hospital A’s patients arrived in poor condition. This compares to 25% of hospital B’s patients. The explains why hospital A’s overall survival is a little lower.
	4 pts.


